Forest Resources

Question. The item that is not a product of Forest
(a) Sealing Wax

(b) Honey

(c) Wooden statue

(d) Salt

Answer: D

Question. The branchy part of a tree above the
stem is known as

(a) Canopy

(b) Crown

(c) Herb

(d) Shrub

Answer: B

Question. A forest consists of

(a) Numerous insects, spiders

(b) Floor covered with dead and decaying leaves
(c) Animals and Plants

(d) All of the above

Answer: D

Question. Find the missing word from the
following equation
Grass—insects—frog—

(a) Peacock

(b) Snake

(c) Koel

(d) Crow

Answer: B

Question. Micro-organisms act upon the dead
plants to produce

(a) Sand

(b) Mushrooms

(c) Humus

(d) Wood

Answer: C

Question. Which of the following statements is not
correct?

(a) Forests protect the soil from erosion

(b) Plants and animals in a forest are not
dependent on one another

(c) Forests influence the climate and water cycle
(d) Soil helps forests to grow and regenerate
Answer: B

Question. Forests

(a) Provide us with oxygen

(b) They protect soil and provide habitat to a large
number of animals

(c) A source of medicinal plants

(d) All of the above

Answer: D

Question. Mushroom and other micro-
organismseat

—eagle

(a) Brinjal

(b) Rice

(c) Humus

(d) wax

Answer: C

Question. Forests are called

(a) Green lungs

(b) Black skin

(c) Red kidney

(d) Brown heart

Answer: A

Question. Floods can be controlled by

(a) Forests

(b) Constructing temporary shelters

(c) Constructing Pits

(d) By allowing the water to flow into the sea
Answer: A

Question. Which among the following forest
animals is the smallest?

(a) Fox

(b) Boar

(c) Bison

(d) Porcupine

Answer: D

Question. Which one of the following is an animal
product?

(a) Gum

(b) Catechu

(c) Honey

(d) Rubber

Answer: C

Question. Arrange the following components of a
food chain in proper sequence - grass, frog, eagle,
insects, snake.

(a) Grass — insects — frog — snake — eagle.
(b) Grass — snake — insects — frog — eagle.
(c) Grass — snake — eagle — insects — frog.
(d) All are possible

Answer: A

Question. Which of the following is influenced by
forests?

(a) Temperature

(b) Climate

(C) Animals

(d) All of these

Answer: D

Question. Cutting of tree on large scale is called
(a) Urbanization

(b) Industrialization

(C) Deforestation

(d) Aforestation

Answer: C

Question. Which of the following is incorrect?



(a) The tropical rain forests support a wide variety
of plants and animals.

(b) We find animals such as ape, bird Toucan, red
eyed frogs etc. in the regions of tropical rain
forests.

(C) The temperature range in the areas of tropical
rain forests is15-40°C.

(d) None of the above is incorrect.

Answer: C



